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Server_Receive(){ int s1,len,i,linkn,linkf1,n. struct msg_buf
*pbuf,mbuf. buf=&amp.mbuf. for(..){
linkn=shm_info(0,GETLINKN).
linkf1=shm_info(linkn,GETLINKF1). if(linkf1==0){
If((i=connect_to_client(linkn,1))shm_logout(linkn).continue. } }
for(n=1.ns1=shm_info(n,GETSL1). i=read(s1,buf, MSGSIZE).
If(i==0){ fprintf(stderr,"A client exit'\n"). shutdown(s1,1).close(s1).
shm_logout(n). linkn--.continue. } if(i==-1) continue.
buf->mtype=MSGTYPE.buf->sid=n. len=strlen(buf->mdata).
fprintf(stderr,"mdata=%s\n",buf->mdata). i=msgsnd(qid3,buf,len
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